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01 #include <stdio.h>

02

03 int main()

04 {

05 int price = 1234, pay = 10000;

06 int balance, amount;

07 int note, coin, total;

08 /******************************* Scanf */
09 printf("Price? => "); scanf("%d",&price);
10  printf("Payment? => "); scanf("%d",&pay);
11 printf("----¥n");

12

13 /******************************* balance */
14 balance = pay - price;

15  printf("price = %d, ",price);

16 printf("payment = %d, balance = %d¥n",pay,balance);
17 printf("----¥n");

18 /******************************* Seee_yen */
19 amount = balance / 5000;

20 balance = balance % 5000;

21  printf("5000-yen note = %d¥n",amount);

22 note = amount;

23

24 /******************************* Zeee_yen */
25 amount = balance / 2000;

26  balance = balance % 2000;

27  printf("2000-yen note = %d¥n",amount);

28 note = note + amount;

29

30 /******************************* 1000-yen */
31 amount = balance / 1000;

32 balance = balance % 1000;

33 printf("1000-yen note = %d¥n",amount);

34 note = note + amount;

gz /******************************* See_yen */
37 amount = balance / 500;

38 balance = balance % 500;

39  printf("500-yen coin = %d¥n",amount);

40 coin = amount;

41

42 /******************************* 10@_yen */
43  amount = balance / 100;

44  balance = balance % 100;

45  printf("100-yen coin = %d¥n",amount);

46 coin = coin + amount;

47

48 /******************************* 50-yen */
49 amount = balance / 50;

50 balance = balance % 50;

51 printf("50-yen coin = %d¥n",amount);
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75
76 }

coin = coin + amount;

JREE Rk ok ok SRRk sk ok ok ok 10-yen * /
amount = balance / 10;

balance = balance % 10;

printf("10-yen coin = %d¥n",amount);

coin = coin + amount;

JRFE Rk ok Rk SRRk sk ok ok ok 5-yen * /
amount = balance / 5;

balance = balance % 5

printf("5-yen coin = %d¥n",amount);

coin = coin + amount;

JHFE RS AR AR SRR KRR ] _yan %/

printf("1 -yen coin = %d¥n" ,balance);
coin = coin + balance;

JRRRHAKKAA KA KA K AR ARK £otg] */

printf("note = %d ,coin = %d¥n" ,note,coin);
total = note + coin;
printf("total = %d¥n" ,total);

return(0);
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1-d-1 mKk#EaT— RO—E

01 #include <stdio.h>

02 int main()

03 {

04 int try, chal;

05 scanf("%d%x",&try,&chal);

06 printf("try 1@base: = %d¥n l6base: = %x¥n" ,try,try);
07 printf(“"chal 1@base: = %d¥n 16base: = %x¥n" ,chal,chal);
08

09 return(9);

10 }

1-d-2 TR (BKfE 15 2 A )

15

15

try 1@base: = 15
l6base: = f

chal 1@base: = 21
16base: = 15

1-d-3 &%

A .10 #EE D try’, 16 #EEL D’ chal TN ZUCHAEEZ AT LIz H 0T 2 #1TC
7,

o, 10 HEECCHUE 15 13 16 T fIc B S iz,

/N, 16 EECCEME 15 13 10 #E5T 21 ITE B & iz,

1-e A& 2.FE/NEEBICLBAEBEATTIOANFEREH
RV TOT T T LDU L% FDFE FEZHA 5,
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01 #include <stdio.h>

02 int main()

03 {

04 int try, att;

05 scanf("%d%f",&try,8&att);

06 printf("try 1@base: = %d¥n l6base: = %f¥n" ,try,try);
07 printf("att 1@base: = %d¥n 16base: = %f¥n" ,att,att);
08

09 return(9);

10 }




1-e-2 EITHER

report#2-2.c:5:21: warning: format specifies type 'float *' but the argument has type 'int *'
[-Wformat]
scanf("%d%f",&try,&att);

A

~e ~n

%d
report#2-2.c:6:54: warning: format specifies type ‘'double' but the argument has type
[-Wformat]
printf("try 1@base: = %d¥n l6base: = %f¥n" ,try,try);

A

int

~e

%d
report#2-2.c:7:53: warning: format specifies type 'double’ but the argument has type 'int' [-Wformat]
printf("att 1@base: = %d¥n 16base: = %f¥n" ,att,att);

A

~e

~e

%d

~

3 warnings generated.
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TCHERR D,

l-e-4 &1L

01 #include <stdio.h>

02 int main()

03 {

04 float att;

05 scanf("%f",&att);

06 printf("att @.00~: = %f¥n" ,att);
07

08 return(9);

09 }

1-e-5 FEITHER (3.1415 Z{LA)

3.1415
att 0.00~: = 3.141500
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1-e-7 FEITHEHR(3.1415926 AT %)

3.1415926
att 0.00~: = 3.141593
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01 #include <stdio.h>

02 int main()

03 {

04 int {HE} = 1234, TH\ = 10000;

05 int B89, #;

06 /******************************* Scanf */
07 printf("fEE? => "); scanf("%d",&fHE%);
08 printf("XI\V? => "); scanf("%d",&KIA\N);
09 printf("----¥n");

10

11 /******************************* balance */
12 B#IY = T - EE;

13 printf("fEE = %d, ",fHE);

14 printf ("I = %d, BEY = %d¥n", BV, BHEY);
15  printf("----¥n");

16

17 /******************************* Seee_yen */
18 & = BV / 5000;

19 BHY = BHY % 5000;

20 printf("----¥n");

21

22 return(0);

23}




2-b EITHER

report#2-2.c:5:7: error: expected identifier or '('
int BHY, &;
A

report#2-2.c:7:40: error: expected expression
printf("fEE:? => "); scanf("%d",&fEE%);
A

report#2-2.c:8:41: error: expected expression
printf("H? => "); scanf("%d",&H\);

report#2-2.c:12:3: error: expected expression
BV = W - EE;

report#2-2.c:13:26: error: expected expression
printf("fHE = %d, ",fHEk);
A

report#2-2.c:14:45: error: expected expression
printf ("X = %d, BV = %d¥n", K, BEY ) ;

report#2-2.c:18:3: error: expected expression
® = B#Y / 5000;

A

report#2-2.c:19:3: error: expected expression
BEY = BEY % 5000;
A

9 errors generated.
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01 #include <stdio.h>

02 int main()

03 {

04 int PRICE = 1234, PAY = 10000;

05 int BALANCE, AMOUNT;

06 JREEEE Rk kKRR Rk kkkk ok geanf %/
07 printf("PRICE? => "); scanf("%d",&PRICE);
08 printf("PAYMENT? => "); scanf("%d",&PAY);
09 printf("----¥n");

10

11 /******************************* balance */
12  BALANCE = PAY - PRICE;

13 printf("PRICE = %d, ",PRICE);

14  printf("PAYMENT = %d, BALANCE = %d¥n",PAY,BALANCE);
15  printf("----¥n");

16

17 /******************************* Seee_yen */
18 AMOUNT = BALANCE / 5000,

19 BALANCE = BALANCE % 56000;

20 printf("5000-yen note = %d¥n",AMOUNT);

21

22 return(0);

23}

2-e EITHER

PRICE? => 1234
PAYMENT? => 10000

PRICE = 1234, PAYMENT = 10000, BALANCE = 8766

5000-yen note = 1

2-f E5
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2-g EAKMEDT— RO—HCEATT L 5)

01 #include <stdio.h>

02 int main()

03 {

04 int 1# = 1234, *1 = 10000;

05 int 3¥, 4%;

06 JREEEE Rk kRt Rk kkkkk ok geanf %/
07 printf("price? =>"); scanf("%d",&1#);

08 printf("amount? => "); scanf("%d",&*1);

09 printf("----¥n");

10

11 /******************************* balance */
12 3¥ = *1 - 1#;

13 printf("PRICE = %d, ",1#);

14  printf("PAYMENT = %d, BALANCE = %d¥n",*1,3¥);
15  printf("----¥n");

16

17 /******************************* Seee_yen */
18 3¥ = 3¥ / 5000;

19 3¥ = 3¥ % 5000;

20 printf("5000-yen note = %d¥n",4%);

21

22 return(0);

23}




2-h EITHER

report#2-2.c:4:8: error: expected identifier or '('
int 1# = 1234, *1 = 10000;
A
report#2-2.c:5:7: error: expected identifier or '('
int 3¥, 4%;
A

report#2-2.c:7:38: error: address expression must be an lvalue or a function
designator
printf("price? =>"); scanf("%d",&1#);
A~
report#2-2.c:8:38: error: indirection requires pointer operand ('int' invalid)
printf("amount? => "); scanf("%d",&*1);
Alv
report#2-2.c:12:4: error: expected ';' after expression
3¢ = *¥1 - 1#;

A

5
report#2-2.c:12:4: error: expected expression
report#2-2.c:13:26: error: expected ')’
printf("PRICE = %d, ",1#);
A

report#2-2.c¢:13:9: note: to match this ‘('
printf("PRICE = %d, ",1#);
A

report#2-2.c:14:41: error: indirection requires pointer operand ('int' invalid)
printf("PAYMENT = %d, BALANCE = %d¥n",*1,3¥);
A

~

report#2-2.c:18:4: error: expected ';
3¥ = 3¥ / 5000;
A

after expression

5
report#2-2.c:18:4: error: expected expression
report#2-2.c:19:4: error: expected ';' after expression
3¥ = 3¥ % 5000;

A

5
report#2-2.c:19:4: error: expected expression
report#2-2.c:20:35: error: expected expression
printf("5000-yen note = %d¥n",4%);
A

report#2-2.c:12:3: warning: expression result unused [-Wunused-value]
3¢ = *¥1 - 1#;
A

report#2-2.c:18:3: warning: expression result unused [-Wunused-value]
3¥ = 3¥ / 5000;
A

report#2-2.c:19:3: warning: expression result unused [-Wunused-value]
3¥ = 3¥ % 5000,

A

3 warnings and 13 errors generated.
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1

2 #include <stdio.h>

3

4 int main()

5 {

6 int price = 1234, pay = 10000;

7 int balance, amount;

8 int note, coin, total;

9 /******************************* Scan'F */
10 printf("fEE:? => "); scanf("%d",&price);
11 printf("ZH? => "); scanf("%d",&pay);

12 printf("----¥n");

13

14 /******************************* balance */
15 balance = pay - price;

16 printf("fEE: = %d M, ",price);

17 printf ("3 = %d M, B#IY = %d M¥n",pay,balance);
18 printf("----¥n");

19

20 /******************************* Seee_yen */
21 amount = balance / 5000;

22 balance = balance % 5000;

23 printf("5000-MiL = %d #r¥n",amount);

24 note = amount;

25

26 /******************************* Zeee_yen */
27 amount = balance / 2000;

28 balance = balance % 2000;

29 printf("2000-MiL = %d #r¥n",amount);

30 note = note + amount;

31

32 /******************************* 100@_yen */
33 amount = balance / 1000;

34 balance = balance % 1000;

35 printf("1000-MiL = %d #r¥n",amount);




36 note = note + amount;

37

38 /******************************* See_yen */
39 amount = balance / 500;

40 balance = balance % 500;

41 printf("500-H=E = %d f¥n",amount);

42 coin = amount;

43

a4 JRFEEE Rk kR ok SRRk sk ok ok ok 100-yen * /
45 amount = balance / 100;

46 balance = balance % 100;

47 printf("100-H=E = %d f¥n",amount);

48 coin = coin + amount;

49

50 JRFEE Rk kok Rk SRRk sk ok ok ok 50-yen * /
51 amount = balance / 50;

52 balance = balance % 50;

53 printf("5e-HE = %d f¥n",amount);

54 coin = coin + amount;

55

56 JRFEE R kR Rk SRRk sk sk ok ok 10-yen * /
57 amount = balance / 10;

58 balance = balance % 10;

59 printf("10-HE = %d f¥n",amount);

60 coin = coin + amount;

61

62 JRFEEE Rk kR Rk Rk sk ok ok ok 5-yen * /
63 amount = balance / 5;

64 balance = balance % 5;

65 printf("5-H=E = %d f¥n",amount);

66 coin = coin + amount;

67

68 JRFEEE Rk ok ok SRRk sk ok ok ok 1-yen * /
69 printf("1 -HE = %d f¥n" ,balance);

70 coin = coin + balance;

71

72 /******************************* total */
73 printf("BAL = %d K ,fEE = %d f¥n" ,note,coin);
74 total = note + coin;

75 printf ("Bl EEDOREE = %d f¥n" ,total);
76

77 return(0);

78 }
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01 #include <stdio.h>

02

03 int main(){

04

05 int i;

06

07 printf("i = ");scanf("%d",&1);

08 printf("16 HEAFKF i = ox%@8x¥n",1i);
09 printf("10 #EHEKT i = %01ld¥n",i);
10

11  return(0);

12}

4-b FEITHER (1121% 1000 LA LT2)

i = 1000
16 H4FKFL 1 = 0x000003e8
10 #4 K5 1 = 00000001000
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4-¢ .int BEHK O LR E TROMEIZOWVWTOELE
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16 #4 KL 1 = 0x80000000
10 EE KL 1 = -2147483648
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i = 2147483646
16 EEHFETT 1 = ox7ffffffe
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16 KT 1 = ox7FFFffff
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